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  OBJECTIVE QUESTIONS      
  Choose the correct option: 1x15=15  

 
  1) Mineral based industries are located near the source of raw materials as they are - 
     a) bulky      b) costly    c) fragile    

 
  2)  Sugar industries are located near the source of raw materials as they are - 
     a) enormous           b) perishable            c) expensive 

 
  3) In an industry the word ‘Labour’ involves people both engaged in manufacturing and 
     a) advertisement            b) entertainment            c) administration 

 
  4)  Most of the industries need labours - 
     a) only unskilled         b) both skilled & unskilled         c) only skilled   

 
  5)  The large scale industries build townships to accommodate their - 

a) workers       b) friends      c) parents 
 

 
 6) The following is not an industrial township -  
    a) Bolepur         b) Durgapur       c) Jamshedpur 
 

7)  The source of raw material is linked to the industry by the means of -  
       a) power        b) labour        c) transport 

        
  8)  The location of an industry is determined by its close proximity to - 
     a) tram depot          b) railway station          c) taxi booth   



 
   9)   The finished products of the industries are linked to the market by the means of -  
      a)  transport    b) power   c) labour 
 

 10)  The iron & steel industries are not connected with the source of raw materials and 
the market by -   
      a) ropeways        b) railways         c) roadways 

 

11) Quick disposal of the product to the consumer is facilitated by the - 
      a) market      b) transport       c) power 

 
 12) The agro based industries with perishable products need a/an -  
       a) unready market       b) neither ready nor unready market     c) ready market   

 
 13) For encouraging industrial growth in the backward areas, Government introduces -  
       a) tax benefits            b) tax impositions            c) tax penalties   

 
 14) Market reduces the transport cost and helps the consumer to buy commodities at -     
       a) cheaper rates         b) neither cheaper nor costlier rates        c) costlier rates    
 
 
 15)  The Government of India has set up infrastructural facilities to promote - 
        a) industrial growth in developed areas   
        b) industrial growth in overdeveloped areas   
        c) industrial growth in underdeveloped areas   
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